H & 0l & AHS B Ml A

|/\-|
=

EII=
Rl B30t - He= XMelAl&

SA B SABH) - KIRAY - BLS o ar o) 3 o HIDS
Si2sS2clAE A 58,229,950 58,535,093 A305,143
= 3,121,900 3,121,000 900
[ 6,500,000 6,500,000 0
£ 500,000 0 500,000
S 2,162,300 2,041,300 121,000
= 45,945,750 46,872,793 A927,043
SEIIEAIE 37,302,483 38,382,583 1,080,100
= 900 0 900
o 37,301,583 38,382,583 A1,081,000
S30t= - Hi== XclAl4 37,198,223 38,278,323 A1,080, 100
= 900 0 900
o 37,197,323 38,278,323 A1,081,000
ot==X el Al & 5,107,672 4,988,672 119,000
307 212+01& 4,413,674 4,313,674 100,000
05 2ItRIE = 4,413,674 4,313,674 100,000
cHHGI(ER)MEIAE 2 QIRe(E (2
CICHEY) &3 2,279,802,000& 2,279,802 2,179,802 100,000
401 AIEHIKL 20U 534,000 515,000 19,000
01 Al&H| 534,000 515,000 19,000
o¥dots BAXNS == E8| WA &
HE4 19,000,000 * 14 19,000 0 19,000
SH3A 7 SSH=XMelAIE EXAS 30,874,000 32,074,000 A1,200,000
401 Al HIZL R 0HbI 30,874,000 32,074,000 A1,200,000
01 Al&HI 28,369,000 29,569,000 21,200,000
oHEBXIT ZBHAMRIAE XA
2 & 28,369,000,000& 28,369,000 29,569,000 A1,200,000
AFIIGHO LAY 0|2 A (2025H) 900 0 900
= 900 0 900
206 M=l 900 0 900
= 900 0 900
01 MZH| 900 0 900
oatHlste=XElANE SeIXel A43
900,000 %14 900 0 900
= 900 0 900
otk 2tel 9,136,759 8,514,759 621,000
= 3,121,000 3,121,000 0
£ 500,000 0 500,000
S 321,400 200,400 121,000
s 5,193,359 5,193,359 0
ot== & 2H== 2t 3,534,759 2,913,759 621,000
s 500,000 0 500,000
= 121,000 0 121,000
T 2,913,759 2,913,759 0
a2 FU=IAMY 500,000 0 500,000
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AN a2l a
M ot el
@2l o= ¥ QH= 2l (EEEE))
SA B O9I(SH) - MRALY - BAS ol ar o ® o RS2
= 500,000 0 500,000
401 AEHIL20HY] 500,000 0 500,000
S 500,000 0 500,000
01 AI&HI 500,000 0 500,000
o&4A AJHX ot=22 BE2IZA
500,000,000 500,000 0 500,000
S 500,000 0 500,000
ot=E FAZEl AI(EX) 121,000 0 121,000
[ 121,000 0 121,000
401 AlEHIYL2HY] 121,000 0 121,000
L= 121,000 0 121,000
01 Al&HI 121,000 0 121,000
o8& IIUEl 22 =4 S Fl(olary
gA) 121,000,0002 121,000 0 121,000
o= 121,000 0 121,000
A 2| 10,799,005 10,649,005 150,000
s 6,500,000 6,500,000 0
(o= 1,840,900 1,840,900 0
i 2,458,105 2,308,105 150,000
A2t 10,799,005 10,649,005 150,000
s 6,500,000 6,500,000 0
[ 1,840,900 1,840,900 0
o 2,458,105 2,308,105 150,000
AT AlE SHEAY 762,000 612,000 150,000
401 AlEHIL20HY] 762,000 612,000 150,000
01 AI&HI 762,000 612,000 150,000
oXlgatsT AIES(HIAX, IS S) 2
= Z2& 262,000,000 262,000 212,000 50,000
oAt 0|4 AMHI
100,000,000 100,000 0 100,000
HREs (22 2eIAME L) 763,967 760,010 3,957
BEXE 3,97 10 3,957
SEXE 3,97 10 3,957
802 gretaJIEL 3,97 10 3,957
01 = NEX3EEZ 3,967 10 3,957
o33N EZ BHEZ(XRAKI? sHE0tE06t
=& HUIAY) 306,000 306 0 306
ofNJ|= PHEt2(XRAXFP sHHE0IE0tE
T HUIAIY) 22,000 2 0 2
oxEXZ Bz (XAX T sHE0HS6t
=& HUIAMY) 1,239,000& 1,239 0 1,239
oDz BEZ2(XAXT? sHEDIS0t
T HHIAMY) 30,0002 0 0 30
oRNEXZ PHEZ(EHIIF sHENS
5t=C HUIAIY) 2,336,0002 2,336 0 2,336
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Hu: RS (HSS2IALL)
S

=@t 28X

SN - BE - SRA(SIH) - NIRAY - B2 0 & ol & o

o2 BHEZ(EHIT? s0HE02 6t

=& FHIAY) 24,000 24
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